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Question: 1

Two routers are physically connected to each other over Ethernet port 1/1/1.

|conf;q: port 17171
no shutdown
router interface tcoModez
addeess 10,1.5,1/24
porc 17171
router oIpt
area 0.0.0.0
incertace Trolodez”
nello-interval 1S
dead-interval £0

Hode 2

senfigs port 1/1/1
tio shutdown

router intecface coModel
addres== 10,.1.5.2/24
port 17141

router osp
area 0.0.0.0

interface "tolodel®

A.INIT

B. EXCHANGE

C. EXSTART

D. FULL

E. No OSPF neighbor

Answer: E

Question: 2

Which of the following debug statements can be used to troubleshoot if the OSPF adjacency is
staying at xstart state? Select two answers.

A. Debug router ospf rtm

B. Debug router ospf packet dbdescr
C. Debug router ospf neighbor

D. Debug router ospf packet hello

E. Debug router ospf spf

Answer: B, C

Question: 3

Based on the following configuration, which of the following statements are true? Choose all that
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apply.

Nods-1

oonfigsroutarsonp iy
ares 0.0, 0.0
interface "co-Hod=-Z"
mecric S0
autbeneivation-key "LoOpEREASIInNpES TugEZEI™ haahd
incerface "co-Noda=3"
mEtCie S0
ar=s 0.0,0,1
n==a
ariginace-default-touce
interface "co-Hode-47
seceic 50

Hode=1

sonfigrrovter»ospry
araa 0.0,.0.0
incerisce "co-NHoda=i"
authencicatilon~key " SRTTISALPCeHI REnSIaFuUHARKMonIAgQRZ™ hashs

Bade-3
configrrouter-oapid
aresa 0.0.0.0
incerface "to-Wode-1"
nollo=incecval 15

Mopcde=
eonfigsranner-aapty
mEes 0.0.0.1
interface "to-Node-1"
metric 50

A. No OPSF adjacency found on Node 1

B. Full OSPF adjacency between Node-1 and Node-2
C. Full OSPF adjacency between Node-1 and Node-3
D. Full OSPF adjacency between Node-1 and Node-4
E. OSPF is enabled on Node 1

Answer: B, E

Question: 4

Two routers are physically connected to each other over Ethernet port 1/1/1. Review the
configuration information below. What state should the OSPF neighbor be in?
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canfig> port 17151
sLharnat
mtu 1514

=xit
no shutdown

router incerfare tolods:
mddress 10.31.5.1/24
POET 1AL L

Couter oapf
afea 0,0.0.0

intecface “tolode=2®
=t 1500

Fad= -2

configs port 1141
no shutdown
router incerface coNodel
wddlrean 10 1.5.2/24
paEt LSi01
couter oapi
arsa 3,0.0.0
intecfmsce "toNod=1"
=L 1500

A.INIT

B. EXCHANGE

C. EXSTART

D. FULL

E. No OSPF neighbor

Answer: D

Question: 5

Two routers are physically connected running ISIS. ISIS L2 adjacency is up and running but L1
adjacency is not up. Review the configuration information shown below: Which of the following
statement best describe the cause of the problem? Select one answer only.
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Fod-1

| configsrauters
imim
interface "roFodst
[t

in show router imis intscface detmil

| 1515 Interfaces

| Tnzertace : ToFods Level Capsbilicy: L1LZ

| tper 3cace L mp Rdmin Stace : Up
| hueh Type ¢ Hone
| Cizeuie Ia R Petransmic Inx. : §
| Type i Brosdosst L3P Pacing Int. i 100
| Mesh Group : Imactive CHNP Inc, 110
| B2d Enabled Mo
Lowel 4 Rijacencies 0
Dasg. IS : Podi
huth Typs i+ Hane Matric i1
Hello Timer : & Hello Mulc, ¥
Priocity © 84 Pamzive i Ha
Level t2 Adsacencies 1
Deag. IS ¢ Fodl
Ruch Type : Hang Merric 10
Hello Timec : 9 Hello Mulct, 13
| Priocicy : 4 Passive N
Fod-2
| configrroutecs
isin
incerface "raFodin
&AL

| H =how router 1mis intecface decail

| 1515 Intecraces

| 1atertace : waPodi Lavel Capability: L1l
| tper Fsre : Up Rdmin Frave + Up
| kiith Type & MNone
| cireuie Id | Retran=mit Inz. @ 4
| Type : Sroadocast 18P Pacing Ink, 1 100
| Hesn Group : Inactive C3NF ot : 10
| Bzd Enablea : Mo
Level T2 hdjacancies 1 0
Desg. I3 i Podi
huth Type i Hone Metric ;10
Hello Timer @ 8 Hello Mulc, 1 ¥
Priarity T B4 Fassive 1 Ho
Loval z Adjazencies L
Tasg. I3 Podi
Rith Typs Nong Metric 110
Hello Timer 3 9 Hells Mult. i 3
Prictity i 64 Pazaive i Mo

A. The ISIS interface level is not configured on both routers

B. The ISIS interface type should be configured as point-to-point interfaces
C. ISIS System IDs are not configured on both routers

D. ISIS Area addresses are not configured on both routers

E. ISIS level capacity are not configured on both routers

Answer: D

Question: 6

Two routers are physically connected to each other with ISIS configured. No ISIS adjacency can be
found on both routers. Ping works fine on the local and the remote interface addresses on both
routers. Review the confguration information shown below. Which of the following statements best
describe the cause of the problem? Select one answer only.
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Hoda=1

# ahaw rourter isis incertace

Interface Level CircIl oOper Stace  L3/LE Meccic

ta-Nada -3

TaT:

Systam Id £ 0100.1000. 1001
Admin State 3

Ipwd Routing
Last Enablad £ 13/14/2006 14:44159
Level Capabiiiby £ 2
Authentication Check © Teue

Authentication Type © None
hdjacenoy Check ¢ loome
L1 Autlk Type : none
LZ Auth Type t mone

L1 CSWF-Authenticaci®s Enshled
11 HELLO-Authe
L1 PENP-AUThen
L1 Vide Metric
L2 Vide Metries

L1 13Fa

L LEPa £ 3

Laat 3PF £ 33/34/2006 14247116

SPF Wit £ 310 sec [Nex] 1000 me (Initisl) 3000 pe {Sesond)
Export Policies £ Hone

Ares add & Hone

Node-2

# show router isis interface

Incertace

Inc

ISES Sratus

System Id 5 01001000, 1002
Admin State 1 llp
Ipvd Bouring 1 Enabled
tpve Bouing 7 Disabiled
Last Ensbled © 12/14/2006 08187141
Level Capabilicy 1 LiLd

1 Trus

1 None

: Inose

: none

= nane
#: Enabled

*: Enabled
ti*: Enabled

3 = Disabled

Li Bide Meccice 3 Dissbled

Li LEPs I

L2 LiPs P

Last. SPF = 12FE4/2006 10:00435

SPF Uaie 3 10 sac (Mmx) 1000 m= (Initdml] 1000 me (S=cond)

Export Policies : Hone

Area Addresses = Hone

A. The ISIS interface level configured does not match the ISIS level capability supported on the
routers

B. The ISIS authentication check is enabled but there is no authentication type and password
configured

C. ISIS Area addresses are not configured on both routers

D. L1 wide Metrics are disabled on the routers

E. ISIS Circuit id does not match on Node-1 and Node-2

Answer: C

Question: 7

L1 ISIS adjacency is up between two routers (Node-1 and Node-2) with MD5 authentication
configured. During a maintenance window, an operator was planning to change one of the ISIS hello
authentication key from admin to admin123. After removing the hello authentication key from
Node-1 (no change on Node-2 side), the ISIS adjacency stayed up. The operator decided to fall back
to the original configuration and called Alcatel for support. Which of the following
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sonfigrrautee>isiall info

area-id 43,0034

authentication-key "ailjde,qlgWic49WcesrPk" hashi

authentication-type message-digest

lap-lifetime EE53E

craffic-engineercing

intecface "to-Node2®
level-capability level-1
hello-authentication-key "aiNilJo.qlgiitd49@reserPk™ haghl
hello-auchenticatlon-type message-digesc
inCeEface-Type POLRT-TO-POLRC

Hode=-2

ponfigrrauter>isisfl 1nfo

area—-id 49,0034

authentication-key “ailjdc.qlqUic43¥retcPk" hashi

authentication-type mezsage-digeat

lap-lifetime &65535

traffic=-enginesring

interface "to-Hodsl®
level-capability level-1
hello-authencicaclon-key "aiNJjJt.glgWitd49WrescPE™ hashi
hello-auchencicAcion-type messaga-digesc
interface-Lype point-to-poinc

A. The ISIS hello authentication key was not configured properly in the first place, that's why
removing the authentication key does not impact the adjacency

B. The ISIS authentication key is the same as the hello authentication key, therefore removing hello
authentication key does not impact the adjacency

C. The system interface is missing from the ISIS configuration, therefore ISIS is not working properly
even before the change

D. ISIS hello authentication key is only used for hello packet exchange. It does not affect ISIS
adjacency

E. ISIS hello authentication key is not used to bring up ISIS adjacency when traffic-engineering is
enabled on the routers

Answer: B

Question: 8

What are the typical RIP related issues found during troubleshooting?

A. Interface filters

B. Broadcast/Multicast mismatch

C. Area id not match with neighbor

D. Group name not match with neighbor
E. Hop count too high

Answer: A, B, E
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